
 

【１】次の連立方程式を解きなさい。 

(1)   

(2)  

(3)  

(4)  

(5)  

(6)  

{3x − 2y = 13
4x + 5y = 2

{x = 5 − 2y
2x − 3y = − 4

{
x + y

2 − x
3 = 1

x + 2y = 2

{
2x − 3y = 7
x
4 + y

6 = 1
3

{
x
2 − y + 1

4 = − 2
x + 4y = 10

{x : (y + 1) = 1:2
(x + 1): (y − 1) = 3:4
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1 × 4 - ≥ × 3 より
2 × 12 より ∴ y = - 1

'

- 23 Y = 46 3xt 2 y = 4 … 2

1

∴ y = - 2
.

1 × 2 t 2 × 3 より
ー

∴ x = 2

1 に 仕 入 13 x = 26 Y = - 1

3 x - 4 =131 ∴( = 2

「 に 代入
∴( = 3 ∴ x = 3 y = - 2

.

4 - 3 Y = 7
…

1

い
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1 を 2 に 代入 1 × 4 より 2 に 代入
2 [5- 2 y ) - 3 y = - 4 2x - ( Y + 1 ) = - 8 x t 12 = 101

- ク Y = - 14 2 x- y = - 7…
ッ

∴ x= - 2

∴ Y = 2 2 × 2 . - 1
より ∴C = - 2

= 代入 9 y = 27
Y = 3

K = 5- 4 = 1
∴ k = 1

.
y = 2

∴ J = 3

い い

… 3 … …

1 × 6 より
) より

3 ( x t y ) - 2x = 6 2x = yt 1
1

.

: x t 3 y = 6 … 1

1
Ix - y = 1 … 1

1 ュより
l - 2 より 4 ()x+ 1 ) = 3 ( は - ) 1

y = 4 41- 3 y =- 7 … 2

2 に 代入 1

1 × 3 - 2 より
K t 8 = 2 2 )( = 10

∴ x = 5
∴ x = - 6 ∴ x = 5

,

1 に 代入 y = 9
∴ x = - 6 y = 4

.

10 - y = 1

∴ y = 9


